Séquence de Nombres Linéaires (F)

Remplissez les nombres qui manquent de chaque nombre linéaire.

| | |
516 491 466

391 366 341 316 291
Différence commune:
| | | | | | | | | |
| | | | | | | | | |
269 259 249 239 179
Différence commune:
| | | | | | | | | |
| | | | | | | | | |
1000 800 500 400 100
Différence commune:
| | | | | | | | | |
| | | | | | | | | |
675 525 225
Différence commune:
| | | | | | | | | |
| | | | | | | | | |
292 277
Différence commune:
| | | | | | | | | |
| | | | | | | | | |
825 750 675 600 450 375 150
Différence commune:
| | | | | | | | | |
| | | | | | | | | |
818 518 368 143
Différence commune:
| | | | | | | | | |
| | | | | | | | | |
557 507 107

Différence commune:
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Séquence de Nombres Linéaires (F) Réponses

Remplissez les nombres qui manquent de chaque nombre linéaire.

| | |
516 491 466

441 416 391 366 341 316 291
Différence commune: -25
I I I I I I I I I I
269 259 249 239 229 219 209 199 189 179
Différence commune: -10
| | | | | | | | | |
| | | | | | | | | |
1000 900 800 700 600 500 400 300 200 100
Différence commune: -100
| | | | | | | | | |
| | | | | | | | | |
825 750 675 600 525 450 375 300 225 150
Différence commune: -75
| | | | | | | | | |
| | | | | | | | | |
307 302 297 292 287 282 277 272 267 262
Différence commune: -5
I I I I I I I I I I
825 750 675 600 525 450 375 300 225 150
Différence commune: -75
| | | | | | | | | |
| | | | | | | | | |
818 743 668 593 518 443 368 293 218 143
Différence commune: -75
| | | | | | | | | |
| | | | | | | | | |
557 507 457 407 357 307 257 207 157 107
Différence commune: -50
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